Solutions for practice in 4.5 Linear Programming

Test the vertices from the previous constraint equations (from 4.4) in each of these
objective equations and find the maximum and minimum for each.

1. z=2x -3y 2. z=3x+2y
3. Each gizmo sells for $5.00 and each 4. What is the maximum dollar amount
widget sells for $4.00. they can take in at the concert?

1. Constraints equation:
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2. Constraint equations
x> +y?< 25
4x -3y <0
Objective equation: z = 3x+2y
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3. Each gizmo sells for $5.00 and each widget sells for $4.00.
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4. What is the maximum amount they can take in at the concert?
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